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訂正箇所 訂正前 訂正後 

P23 (1.25) (質点𝛼の受ける合力) ≡ 𝐅α

= ∑ 𝐹𝛼𝛽
𝛽≠𝛼

+ 𝐅α
ext 

(質点𝛼の受ける合力) ≡ 𝐅α

= ∑ 𝐅𝛼𝛽
𝛽≠𝛼

+ 𝐅α
ext 

P169 問題 4.6 
𝑈 =∑𝑈𝛼

𝛼

𝑀𝑔𝑌 𝑈 =∑𝑈𝛼

𝛼

= 𝑀𝑔𝑌 

P230 (5.98) 
〈𝑥2〉 =

1

𝜏
∫ ∑ ∑ cos⁡(𝑛𝜔𝑡 −𝑛𝑚

𝜏

2

−
𝜏

2

𝛿𝑛)cos⁡(𝑚𝜔𝑡 − 𝛿𝑚) 𝑑𝑡  

〈𝑥2〉 =
1

𝜏
∫ ∑ ∑ 𝐴𝑛cos⁡(𝑛𝜔𝑡 −𝑛𝑚

𝜏

2

−
𝜏

2

𝛿𝑛)𝐴𝑚cos⁡(𝑚𝜔𝑡 − 𝛿𝑚) 𝑑𝑡  

P293 1 行目 𝑣 = (𝑣𝑥, 𝑣𝑦) = (𝑞̇1cos𝛼 + 𝑞̇2, 𝑞̇1sin𝛼) 𝐯 = (𝑣𝑥, 𝑣𝑦) = (𝑞̇1cos𝛼 + 𝑞̇2, 𝑞̇1sin𝛼) 

P335 (8.16) 
ℒ = ℒ𝑟𝑒𝑙 =

1

2
𝜇𝐫̇2 − 𝑈(𝐫) ℒ = ℒ𝑟𝑒𝑙 =

1

2
𝜇𝐫̇2 −𝑈(𝑟) 

P540  (12.26) ∆𝜙(𝑡)~𝐾𝑒𝜆𝑡 |∆𝜙(𝑡)|~𝐾𝑒𝜆𝑡 

P825  (16.96) 
𝐄 =

1

𝛼𝛽
⁡ [−𝛼 + (𝛼 − 𝛽)⁡ ]𝑝𝟏 =

𝑝

𝛼
𝟏 𝐄 =

1

𝛼𝛽
⁡ [−𝛼 + (𝛼 − 𝛽)⁡ ]𝑝𝟏 = −

𝑝

𝛼
𝟏 

 

 


